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Question Nos. 1 tq gp have fuu‘gﬁuns, oul of which only one

is correct. Out of g quesHoQs any 50 questions are to be
answered. You hape t‘éﬁ:rk, Yyour selected option, on the
OMR sheet, 50 x 1 =50
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1. W‘Eﬁﬁﬁngﬁmﬁmm%?
(A) T i B i i
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answered. You hape to mark, your selected option, on the

OMR sheet. 50x 1=50
17 99 i A § 3 R
(A) W9 e (e US|

Bio-geography i#ranch of which of the following ?

(A)  Human geography (B) Physical geography

i ot |
;."-'{@] Eqannmric geography (D)  Political geographv
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(C}  Economic geography (D)  Political geography
£r = o = o= ' s é':_ 7

(C) qﬂﬁrﬁrﬂm Iz?ta-ﬁ-g
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(A) Determinism (B) | Possibilism

sunoorter of which
a supporter of which of the

(C] Neodeterminism (D) None of these
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Which of the fnll@g gcugraph:cal regions 1S dens

population de found ?

(A) Cnldﬂ?mrt (B) River valley region

(C) Hot desert (D) Mountainous region



(A) ¥ Ol =
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e o ‘0 (D) wiREH
(703 _ :
Which of the z@d’wing countries has low birth rate ?
(A) Int:@e (B) = China

(C) Australia (D) Pakistan
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(A) W O[B) S
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[€) i éQ (D) OifeRE
Which of the ving countries has low birth rate ?
(A) Iru:l@g (B) China

(C) Australiha (D) Pakistan
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(a) P Siha
__gef U ¥ s ¥ wife aen qa

Which of the followingls a cause of migration ?

| &)
(A) Epldemlchv

(B) Equabpchmate

(C) Employment opportunities
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The Dharavi slum is locate@n’ which of the following
metropolitan cities P ‘

(A} Mumbai _C)¥ (B) Kolkata

)
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(C) IwEERm

The mega city Shanghg

\/’Hmmﬁmﬁmﬂmt? (’0'6s
(A) ST 1B v
sh country ?

() Japan QQ B) Malaysia
() IndoncoR (D) China




(C) , Indonesia (D) China

The ratio betwee oplilation of male and female is
known as z

(A) Em.h? (B) Death rate

_{m___[,itcr_ag rate (D) Sexratio

&
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(A) 60=¢ A Fw

"(C) 15-44w é 45 - 60 a4
Which of the fn]@;g age * groups denotes old

population ? y 0
(A) Abov ears B): O- 14 years

(©) 15-.943@13 " (D) 45-60years



in which continent
i Qv ~(B) Africa
[ﬂl Asia g -

" Nmﬂﬂmcﬁm_ (D)

South ﬁrnerica



In which or the fullu@ countries is thc temperate
‘grassland lound 0 |

(A United %Qs of America
B Cand -

. (€] Both (A) and (B)







What is the main crop of monsoon region ?

. (A] Rice . - (B) Wh
Cl  Maize .. (D) &c
L/'\(i;a maﬁﬁﬁaﬁb"xﬁ‘% ?
\ngﬁfﬁ gedfl )

(c) fa=n vO |
The pruductin%ich product is called hnrti(:pltu.iru ?

(A" Fruits ahd vegotables (B]  Flower

e

[C) silk - (D) Honey
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{C} Jharkhand (DY

Bihar

Madhva Pradcsh



(C) Jharkhand (D) Madhya Pradesh
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What is the l#l rcason for mlgratmn of women from
" one rural a.& to another ?

{A.] Employment apportunities



(D) . Education

\}ﬁﬁqmﬁmm%?&
‘CfBJ

& o éﬂlaﬁa— |
ing is a libre crop ?
(A). cUtm}P (B) Jute

(C) ﬂm—h (A) and (B) (D)  Nonc of theen

A @)

Whmh of the I’



LS

18. Wﬁqaﬁﬂmﬂﬁgqﬁsamﬁﬂﬁﬁiﬁ?

(A) g (B) ¢ |
(Cr  wrawm QQY EEL
\

In whicly mutrnpnlis@ the metro train run for the
first ti_rne in I*n-:lilal.bv

(A) 'Dclhi 2\ {B) Hyderabad-

(C) Kolleata (.D}

Chennaoa



(L3) Kolkata, (D) Chennai

19~ Frafifen # Reg =1 qd wn gor e 2@ ¥ fRm
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(A) ¥R« ; Ay

© Y= - 0@'5 (D) e

In which - of tl’%@ollnwmg.cnuntries is the world’s
longest highw%?lunnel located ?

(A) India (B) Bangladesh
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| (A) WG \dﬁﬁﬁ?ﬂﬂ
) e e I LG
\)
Dr. Mahbub-ul—l{%& a resident of which country?
@

(A) India -00 (B) Pakistan .

(C) Sri Lanka (D) China
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Which of lh@)gwing is a planned city ?

(A) Nﬁr (B) Chandigarhb
(C) ?atna (D) Ranchi

no  vmm i wemEn R Tdl & st § B B 7



In India census is conducted in a gap of how m:

years ? .
&

(A) Syears 9 (B) 10 years
&
(C) 15years ‘0 (D) 20 years

hﬁﬂuﬁ%&mﬁﬂ%mmmaE@m% ?

(A) &' /(Br Gt

(C) (D) 3F@Eve
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By what name is shifltin
(A)  Jhum
(C) Milpa vo (D
25, Padidslhw
(A) TR
(C) T




| wer )

24. W@ Rﬁt{ﬁaﬁﬁ;{amﬂmﬂﬁ?
\Am (B)
(c) fem

é? awiTd
S A .
By what name is shifting c tion kfown in India ?
Jhum ‘
Milpa onc of these
T il EoE v,?ﬁ =|1ﬂ % ?

(




Chandigarh . (B) DBhnupancswe
\q/ﬁ’atna (D) Ranchi
frerferfaa & Rea wo & @ 8 6\

(C) E@ﬂ

aisin is made of whic

(A) Strawberry v




(A) Strawberry (B) Grape

(C) Blue berry (D) Pl
£ 7 @ P S9N W T IS :
: . ) =
(A) v g (B o T
(c) R & 7 & o

Which of the :ﬂll::%@ a nnn-canvcnhunal source 1::1'
cnergy ?

(A) I-Iydrn@?m (B) Wind energy
(C) Solar energy (D)  All of these
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28. ﬁmh@ﬂﬁunnrﬂwﬂmﬁmnﬂmﬂﬁﬁmw

wwiftm fam 7 @

(A} 1970 B 1
el 1990 (D), 2000

In which of the lollowin s did UNDP publish its
first Human Developm cporl 7

(A 1970 N (B 1980

(C) 1990 Q (D) 2000
29, ﬁqﬁ#ﬁmvﬁﬁ’mqﬁmmmﬂﬁﬂa ?
(A) & (B) I

Jer” (A) @ (B) 3 (D) ¥ A W T
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30.

(A) 1970 (B) 1980

(C) 1990 (D) 2000
f= 1 A fem T i g wE g 3dim fRm

(A) @R (B) W?
JS (h) @ (B) 3 tmaﬁﬁ wrE T
In which of the rnllm-.-in‘ s is iron and steel

industry located ?
s

{A) Bokaro v (B) Jamshedpur

(C) Both (B) (D) None of these
Tes frm Cok:roichr 8
(A) e (B) ierTal

e PR . — .-ll""-i: -




30.

(A) Bokaro (B] Jamshedpur

(C} Both (A) and (B) (D) None wsc
Tzas frm memm & fame @ R 7 o)

(A) O (B)
(€ =t

Rohtak is a satellite lr.b
(A) Hyderabad Qv (B) Kolkata

fezft

which metro city ?

(C) Mum Q (D} Delhi

Jzas F5R TR F AR TR @ 7

A R (B)  Hierhran

Cl.£
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: Mumbai (D) Delhi
%m fFR HEFTR 1 AeTRE TR éé‘

A tEEE ‘(.‘! ST
© = 00- D) R
\)
Rohtak is a sat @uwn of which metro city ?
(A) Hyd d (B} Kolkata
Cl MR'““ (D) Delhi
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Which of tl.'m fulluwi N
(A) Mustard -

(C) Gram °

(A)  FAleH

© e
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w1 Iollowing crops is a oilsced ?

(A)  Mustarq ° : ® do

(C)  Gram | @gf
52. ﬁﬁﬂ?ﬁﬁ%ﬂmﬁ@ag |

W s .

e TﬂEIT |

Chilka lake is lnca@

(A) Karnatamo )

(€ "Goa ' . :=.1-.ig; Odisha

| 33. ﬁqﬁﬂﬂﬁ?'ﬂmmﬁ?mﬂm'&;mﬁmmm ?



R ABCAL J-H:l.llzﬂ.l.iﬂ X o {E‘.] K'EI‘E]EI.

(C) "Goa " ‘([E] QOdisha .
33. ﬁnﬁﬂﬁqwmmnm% AT AT o7 7
ey wem [E] Goraord
(C) éﬂ' R
Which of the fnllumne’@es was known as Prayag in
the ancient times ?Qv f, ' S
(A) Patna’ go [B] Varanasi
(C) Allahabad’ (D] Hyderabad

% ﬁqﬁaaﬁammﬁmaﬁaé T




(A) FPatna 8] veranas)
|

(C) _Allahabad’ {D) Hyd abad
_/ﬁ q & 0 WS @ﬁﬁ 'é o . ui
A @m 3 Qsﬁﬁﬁ g
€ <= . ‘ﬁl g
| Which of the [ullum metallic mlncral ?
| W i 2" @ miea
(C) Tale v (D) Uranium

P'Fuﬂ_'l_l:un [ ) . ‘ A
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35,  wmimaN wa ReeRifa A fen o i fim B 7

(A) 3R (B) u&tﬁfmﬂ

\Jﬁ’/lﬂm ]%‘ I
Marmagao porl s Incn@!n which of the following
states P v
Q L]
[A)  Odisha v (B) Wesl Bengal
(C) Gon (D) Gujaral

a6 Pedashmmamim = 2 6m S D o
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(A)  FAR (B) z@
K wpr’ e Aot 2 o

Which of the following ci@is situated on the banks of

river Ganga ? vo
@

(A) Kanpur ve (B) Varanasi

(C) Patna (D)  All of these
27 P S Ao e _a_ a
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38/ ﬂmﬁﬂ:?ﬁnﬁnfk—l%ﬁﬁmm}&lﬂ

iy Reraa v
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The Gaddi tribe is inhnb' n

states ?

(A) Hlmachal@mh Assam

(C) Manipur (D) Mizoram
39. Al 1 =S WA o A A frg wm A A R 7

¢ following




(C) anipur (D) Mizoram

39, mmuﬁnﬁmﬁﬁ%nﬁnﬁg@?
(A) W W I (B)
(C) & m UM

Copper is widely used(p which of the f(ollowing

industrics ? @v
(A) Iron and s@%dusw
(B) Sugar industry

™ Mawtila Teadssmbess
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‘l—'ll UHE“-I- AR AR T

(C) Textile industry

(D) Electrical industry @
e o e g wd s A ¢ O
(A) 1992 [ize'znuz

2012 (,%} 2022
) .

In which year was watiunai Water Policy enacted ?

A,

(C) 2012 - (D] 2022

(A) 1992 (B) 2002
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_Aal. ‘(@ummamﬂamﬁmn}mﬁmrnm? 7

() 78 S “3?
(A) W (B) QI 1§ TEI

Lincar bClllﬂn'IEI'll pattern is I'@Sicl in which rcgion ?

(A) River bank 0‘ Along the road %
ICY  Both (A) qm’l o (D} Nonc ol these
42, Fm=da 57wl mﬁ’rﬂg? |

(A) B) &aed @ v
LS @) D) AP T

MLl _F et o




(Cl  Both Al and (BB (D1 Nonec of these
42, ﬁmﬁﬂa&"ﬂmﬁmﬂﬂa’m% ?

(A)  9TEd F WK T
\Jm/trauﬁ(alaﬁ _(D] A i T

Which of the following is a cc of noise pollution ?
(A)  Noisc of vehicles OQ(B] Noisc of factory

(C)  Both (A) and & (D) Nonc of these
43. W.T.0.f¥g %Q deen @ 7

(A)  TRfw B)

L,Lcl/aﬁmﬂﬂ (D) T
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(A)  Noisc of vchicles (B) Noisc of factory

| (C) Both (A) and (B} (D) wc of these
43. W.T.O. foru yor <) deen @ 7 o°

(A) B i
. Q@
SGIey b 0‘ (D) ¥
What kind of nr@atinn is W.T.O. ?
(A) 3 Rc:gitm@0 (B) Nlai‘;inna]
(C) International (D) Local

44, ﬁﬁ%ﬁﬂﬁﬁ%ﬁ@iﬁﬁﬂ:ﬂ%? |
(A" rEm ot T e
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(A) W @B w0

(C) W '

Malaysin is the leading gptwducer of which of the

following crops ? ,QO
(A} Tea

2) (B] Colfec
Q

(€ Cocon (D] Rubber
46. WY TR Prefalaa 1 | frg Tedo i R g 7
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Sucz canal is located | thch- of the following

continents ? vo
(A)  Asia vgz (B) Africa
(C} Europe (D). Australia

47. TR W P TEE 393 ) 9D W FNOFE L 7




(C) Europe (D). Australia
47. oW W A maﬁﬁmaﬁm%?

(A) 3!T~Eﬂ?l \.(-BT/F-’@

(C) TR ( Q*I%:’ﬁw

What is the process &selﬁng goods to another
countrics called ? e?

(A) Import ,06 (B) Export

(C) Business _ (D) Exchange
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Which of the lollowing is pital of Assam ?
(A)  Dispur 00 {(B) Bhopal

Lucknuw Itanagar
A aﬁ;&aﬁm ™ a -,~
KIS HEIH
(© m (D)

r ﬂﬁ“‘_- FR~




(A)  Kanpur (B) Ahmedabad

(C)  Aligarh (D) Na
50. ﬁnnn%amﬁqnﬁmﬁ%mﬂm
e o D

(A) T *@?{Em

(C) 3Tkl C:b (D) i snifE

Which of th uwmg continents has the largest
pt:-pu]atmnv e world ?
[ﬁin' Europe - (B)  Asia

i Africa m Sauth Amariecn
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(A) Europe - (B) Asia

([Cl  Africa (m 59‘-@ ety

Who gave the concept of Neodeterminism ?

(A} Humboldt (B) Ritter



